A 11/ 2020

3 =y SL MPLIFlcLE
553 [ 2V2 RO
2x* — 2 x — 2 TR

VZz.Uz-V2z = 2V2

x’é._ (\}_2'33/ (x/()z./) X% + Uz x +2)

<Z>(+\)_i)<x—\)—z> (2% +V2) (x ~Vz)

x4 Uzx +2
2x-V2x-2=0 2x +V2

DN=2+44 =18%

n
)]

V2 _ vz

(o VB 1aVE ySEARNE ___72,<2_\75,<-2=2(,<+U;:)(x,\5
4 \f‘—j{z—'=\5 ;<2><+\f£)(x-z,>

K\SUL‘u}‘lp BEC LIBWo

V2 (x? +xe+2)
2z 4-1)

/z/(x +U§.><+z> ]

\TZ /'Z/U"i (Vz x +4)

x?'—Hfix +2

-—

2x + V2



— 1 _ 1 __1 C.E.
73 2 2 o
¥ =¥ —4x-4+4d X-tx—2 %12 X4tz

R4 - alx-a) <D 4

(x=1) (™ 4)
(x- 1) (x-2) (x +2)

1~ (x-2) (x-4)(x -2)

-— —
-

(XWH,\ (M’—)
4%47/: xt-2x %V/

2 2

—

(x=4ivi
Ja;/wtwﬁer C.E.




C.E.
562 1 41 1

2x* —5x — 12 4x®+4x—3  2x+3 X44
(ZW—B) (x-4) (2%+3) (2x-4) x ..%
x;fi

2X —BX 42 = z<x1— )(x 4_\ <2X+3B(x )

A=25+%6=4124

6__3
0 TR S
4 Ndb_y
4—

: 5 3
B - 4+12-40 \/
4 i 3
sy A
x4Z=—2—4 _=/
f \2_.1
4 £ 2
,Q./W
= 0
(zx42) (x- 4 (zx+3) (2x- 1) 2;3 Jerdni Pk
/ ) o botfls
4 £ A CE
__ A
XT4 2X 1

ex ‘= x=8x+4
2X -1 +X-4  _ —(x—- 4)(zx-1)

(%= X =) (x=4Y(zx=4)

2
2% -5 = -2x 3K 4 2X —~6X-4=0



Q(x_x,,)(x— XA-_—O

!

Lo bEZipo 10

a =1
(FFEANKTShFe
(x +4) (x-5) =0

2
X “5X+X-—5=O

Xz—- 4X - =0 (VA BENE ANCHE

3 x'- {2% - 45 .—.—o)

174 Scrivil'equazione di secondo grado che ha come soluzioni —5 e 1, il cui termine noto ¢ 10.

a(x—«r )(x+5)=o

a(x?+BX-X-5)=0
2
2 -2X - ¢9X +40=0
o (x*+4x-5)=0
z
AX +40X -=5AK =O
W—/
TERMWE NOTo

—-50(—:4(0 = a=-2



